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Al 1,400,810
201 LBt2H| 24,966 24,266 700
01 At 22l 24,966 24,266 700
O1.28=EH| 11,700
-—=ZJIBFR LAY LBtEH|
2,500,0003 «90%<& 2> 2,250
SEAE UBEE SFAAN 242
110,000 *450H 2~ 4,950
SRR 2EEY 42
300,000& 152 X 4,500
O5.2&Hl 2,016
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SH: SR4AD
HH: AW S SYHSLN/5Y - 58)
Sl S MADIBEY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
e EES TS
7,000 x3H «8L x12& 2,016
O6. Y X = 11,250
—=AD|BLAIE EH|I(EAH 2BHS2)EHl Xt
450,000& 5 A~ +x5 11,250
202 044l 2,700 2,700 0
01 2L I 2,700 2,700 0
OsgI|EtAIYE =& ]
60,000& *3H *x3L x53] 2,700
401 Al HI L 2 0HHI 1,193,144 1,057,659 135,485
01 Al& H| 1,191,000 1,055,000 136,000
S| AIEHE 5= 50,000,000 = 14! 50,000
OsSMAD|BFXE ALY Al Al A A HI
40,000,000 = 1A! 40,000
ORXlots gakx Al 2,000,000& 232 46,000
OB o2y M2+
100,000,000 = 1A! 100,000
OSEMSSATY HAENL4
30,000,000 x1A! 30,000
OEdl 832 (NGLUFAQY) S2EEAZA
30,000,000 x1A! 30,000
OZd ==c| 2t dE AXIZ2A
60,000,000 x1A! 60,000
OEdll =422 s EZE A
50,000,000 x1A! 50,000
OZdl =X |83 E4ZA
30,000,000 x1A! 30,000
OEZdl &12l S22 & X3 At
70,000,000 x1A! 70,000
OEdl =22/ (0IRe2IB) s EZZ2A
40,000,000 = 1A! 40,000
O =2L4d s EEHZA 100, 000-& *600m 60,000
O Bt=22|~)|del sAlE EIISSZ2A
15,000,000 * 14! 15,000
OAlZ 222 XY LY SREFIBA
25,000,000& * 14! 25,000
O Se s ZEBA 50,000,000 =14l 50,000
OG5 BHYEH Ko SXBA
80,000,000 14! 80,000
O&Fol EAHecl S22 EXZ2A
200,000 *250m 50,000
QX dEC(ER) s2EEHZ A
40,000,000 = 14! 40,000
O&sG nN82e S22 0l & 3 At
30,000,000 14! 30,000
Ozt 24 1e s2 & S22 X 2AH
60,000,000 = 1A! 60,000
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SN =2RAAD
HH: AW S SYHSLN/5Y - 58)
Sl S MADIBIEY CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OSct ZASSH B2 AF 30,000,000 =14 30,000
OFH A=22] BHY M bty S3 X2
3 70,000,000& x 14! 70,000
OFH JIAel S2 2 EX2A
35,000,000& x 14! 35,000
OJl= 242 FHUYE AXZ2A
70,000,000& x 14! 70,000
OJIE =22 22 A XIZ2A
200,000 *150m 30,000
03 Al 201 Y| 2,144 2,659 A515
OsYHIIBLAIEAISE AlE 2 0HH|
1,191,000, 0002 *0.36/100%50%< & 2> 2,144
402 SI2t X0l ™ 290,000 290,000 0
w 110,000
Al 180,000
01 812t X 290,000 290,000 0
OzelH =2 Al S22 (01Y)
290,000,000& 290,000
imi 110,000
Al 180,000
SEMESAEHU (TANE2E)(TAZ2ESE X SN A 1,502,700 1,005,500 497,200
*NCES
2 1,050,000
Al 452,700
401 AlEHIZL £ 0HY| 1,502,700 1,005,500 497,200
2 1,050,000
Al 452,700
01 Al&H| 1,500,000 1,003,000 497,000
OsEMBSAIU(SAT )
280,000,000 x4l 280,000
2 196,000
Al 84,000
Os=MestHAA™Y| (DX, XA )
340,000,000 14! 340,000
2 238,000
Al 102,000
Os=MestHAA-Y (LHE, DH X F2)
240,000,000 * 14! 240,000
2 168,000
Al 72,000
Os=MESHAAMY| (JFHXI )
160,000,000 = 14! 160,000
2 112,000
Al 48,000
Os=MESHA XY (2 HIXIF)
230,000,000 x4l 230,000
2 161,000
Al 69,000
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FA SRS
HH: AW S SYHSLN/5Y - 58)
SR SYMAIIBEY (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=sEMESZ AU (FXXF)
140,000, 000& * 14 140,000
2 98,000
Al 42,000
O=sEMEs A (=X F)
110,000, 000& * 14 110,000
2 77,000
Al 33,000
03 AIE 2 0H bl 2,700 2,500 200
O=sEMESHZAHUIAS (JIAH7HKR)AEL
=l 1,500,000, 000& *0.36/100%50%<& 2> 2,700
2 L A2 HH(BX) 90,600 86,400 4,200
< 9,000
Al 81,600
206 M= Hl 90,600 86,400 4,200
= 9,000
Al 81,600
01 = Hl 90,600 86,400 4,200
OZF & %I HUI(2X) 90,600,0002 *14! 90,600
= 9,000
Al 81,600
Moo S+l AEFU(BEX) 316,134 572,514 A 256,380
< 95,000
Al 221,134
401 AIEBIZ 201 8I 316,134 572,514 A 256,380
< 95,000
Al 221,134
01 A& Bl 315,000 570,000 A 255,000
O8f =22l BH+2 2%
90,000,000 * 14! 90,000
< 27,000
Al 63,000
O=8 4332 SHH+2 £
90,000,000 * 14! 90,000
< 27,000
Al 63,000
O4lZ W42l B+ 4x|
30,000,000 * 14! 30,000
= 9,000
Al 21,000
O&dl ~scl Etl==2 &l
55,000,000& =14 55,000
< 17,000
Al 38,000
Os&ect st&l3el Etl==2 &X
50,000,000& =14 50,000
< 15,000
Al 35,000
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AN SRS
HH: AW S SYHSLN/5Y - 58)
SHl S AT BHE Y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 Al S THHI 1,134 2,514 A 1,380
OTHOH Ol 2 = S 4 2I Al = HHI AL Al & 2 CH bl
315,000,000& *0.72/100%50%<& 2> 1,134
CEAEMSXNEH(BEX) 451,620 261,311 190,309
< 135,000
Al 316,620
401 A& HIZ 201 Y] 451,620 261,311 190,309
< 135,000
Al 316,620
01 A& HI 450,000 260,000 190,000
O=% 232l HelBX 24
150,000, 000& * 14! 150,000
< 45,000
Al 105,000
Oset NFel 40EX 24
80,000,000 » 14! 80,000
< 24,000
Al 56,000
OJl= 2dial %X 2+
100,000, 000& * 14! 100,000
< 30,000
Al 70,000
O&ot &322l &K 2= 80,000,000 *14] 80,000
< 24,000
Al 56,000
Ogdl 42| 44X 2= 40,000,000 =14 40,000
< 12,000
Al 28,000
03 A& SR THHI 1,620 1,311 309
OL=AEM=XZHIALY AlE 204
450,000,000& *0.72/100%50%<& 2+> 1,620
st il 01 30,000 30,000 0
206 M= Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
Ogerad FHl M= 3,000,000 =109 2 30,000
Ha=XMEEH(Ex) 31,000 29,500 1,500
< 9,577
Al 21,423
401 Al BIZ 2018 31,000 29,500 1,500
< 9,577
Al 21,423
01 A& HI 31,000 29,500 1,500
OZUW M=Xl MZ ZHHl 31,000,000& =14 31,000
= 9,577
Al 21,423
29 MEIEA NR(2E) 1,700 1,800 A 100
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1,700

201 e

02
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H

1,100
1,100

1,200

A 100

01 AtR 2t 2l |

OFANsY++=

220,000& 52

H

1,100

1,100
1,100

1,200

A 100

202 o4 Hl

H

600
600
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01 =LHOIHI

O=SHAHA B = AFEZ 0 HI

20,0002 «1H 30
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r
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)
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,060,059

24,360
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397,674

= IHRII(

H
P
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= mnH

,973
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,601

1,560,037

327,936

101 Q124 H]

=z N H

,301
65,150
19,546
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04 0I2ZtHZ22HsSE+
A

OAt oI 2 01

A =
_'_XI =3

O= I FRII A& ZALEE 2124 8|

ol H
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Z W

= N
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SH: SR4AD
HE: QAW S SYHY /LY - ME)
R X0l ste e (2 &HH)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
ONZBIOIQHANY A28 (Rs2al)
400,000 x9H 3,600
=2 3,400
Al 200
OMBZAG & AMZBIOIQA DE0iY|
1,087,000 1,087
401 AlEHIZL £ 0HY| 1,738,025 1,455,924 282,101
= 872,621
= 261,787
Al 603,617
01 Al&EH| ,684,997 1,392,924 292,073
O=Jt31J|(810ha) & Of &l LIRItRI|(96ha)
1,504,033,000& ~14! ,504,033
= 757,321
= 227,197
Al 519,515
OXS X IFRIIAY (200ha) 180,964,000 =14l 180,964
= 90,300
= 27,090
Al 63,574
02 2teld| 50,000 60,000 A 10,000
Oozeldl 50,000,000 14! 50,000
= 25,000
= 7,500
Al 17,500
03 Al 20| 3,028 3,000 28
OAl&E S0t
1,682,000,000& x0.36/100%50%< & 2+> 3,028
405 XHAHFEIEHI 2,000 0 2,000
= 1,653
& 347
01 AL 2B F S| 2,000 0 2,000
OJIAHES 700,000 =2CH 1,400
= 1,400
Ol =2 600,000& = 1CH 600
= 253
& 347
Y el (2 E) 7,800 7,800 0
2 5,460
& 468
Al 1,872
101 Q121 H] 7,800 7,800 0
2 5,460
& 468
Al 1,872
04 JI2ZtHIZ22NEE S 7,800 7,800 0
2@ ol 6,995,000& 6,995
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AE2HS 6,995,000 *11.5%

= W

5,460
468
1,067
805

= M o0

27,000
18,900
1,620
6,480

33,750

A6,750

401 A& HI

al

=

SOl

> o

27,000
18,900
1,620
6,480

33,750

A6,750

27,000, 0003 » 14!

= K

27,000

27,000
18,900
1,620
6,480

33,750

A6,750

P
o
>

e

vgl

= MW

312,965
104,775

32,711
175,479

239,851

73,114

401 A& HI

(s}

=

Loyl

= W

304,345
98,069
32,137

174,139

239,851

64,494

01

02

03

g Zeldl

A& 20U HI

283,338,000 » 14

= N H

20,000,000 * 14!

= 0N

279,553,000 *0.72/100%50%<& 2>

283,338

283,338

85,784
28,097
169,457

20,000
20,000
12,285

4,040
3,675

1,007

1,007

218,341

20,000

1,510

64,997

A 503

402

= M W

8,620
6,706

574
1,340

8,620

01

S E X ALY (2ha)

8,620,000 14!

Z W

8,620
8,620

6,706
574
1,340

8,620
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SN 24D
HE: QAW S SYHY /LY - ME)
chelr BEEO MY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AS AL LULHSA(EX) 3,120 3,120 0
< 936
Al 2,184
101 @124 dl 3,120 3,120 0
< 936
Al 2,184
04 D12t Z2XREES 3,120 3,120 0
AT AL ZLIHRA 1A 2,798,000 2,798
= 936
Al 1,862
OC4liE" JIA2RES 2,798,000& *11.5% 322
A XA 2t 446,269 424,590 21,679
101 @14 Hl 32,815 32,755 60
04 JIZHHZ2XREES 32,815 32,755 60
O=sXZeld oAl 54,500 9 x60 29,430
C4liE" JI2RES 29,430,000& *11.5% 3,385
201 Let249] 19,076 15,088 3,988
01 AtR 2l 12,816 9,688 3,128
O1.Yer4gH| 1,800
SARITIR 2R Yoy
2,000,000 x90%<& 2> 1,800
O5.2 2l 2,016
SAETHE YRET 02 22X SA
7,000 3«32«82 123 2,016
O6.2xt=z 9,000
-9& FHl ¥ sXNAE 22/FH S
450,000& 2 =103 9,000
02 2322l 6,260 5,400 860
O3. Al ZHI Xl 6,260
=X 2 AT AIE AU RFUHELER)
1,700& x700£ *4CH 4,760
-—=XAd2elEd =4 100,000& x5& *33l 1,500
202 O4dl 2,700 2,700 0
01 SLHAYI 2,700 2,700 0
Ox8 & =EZASAMY FA 0L
60,0003 *3H *x3 53] 2,700
206 M= Hl 20,400 27,200 26,800
01 =8l 20,400 27,200 26,800
OJtZ2stetE 2e|l X ¢ 12,500
-xE+= 40,0003 *100= 4,000
-xZE 20,000& »50m’ 1,000
-2Z =+ EHl 10,000& 200 L 2,000
-X=0 10,000& »150% 1,500
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SA: 2RAYD
HE: QAW S SYHY /LY - ME)
oel: EEH0 MYBE (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HYTA(HE) 2 5)
10,000& »10& 404 4,000
OJtzetet & =8 ol 2 <M 2 3,900
- = A 5,000& =100 33| 1,500
-& 2 Al 8,000& *100 »33] 2,400
O=T# AE 2R(322,82) 7Y
2,000& *2,000= 4,000
401 AIEHI L 201 356,278 345,347 10,931
01 A& HI 355,000 343,616 11,384
OL2H gt Xzl (&2, 282 =
SXE, H4EoHeH) 50,000,000& » 14! 50,000
O&t= Lo = R H A 150,000, 000& * 14! 150,000
OE=2Y M=ttel 8F 10,000, 000& »24! 20,000
OgYor tiEE=2 ZZAE 22 (X022, ¥
HESLH) 20,000,000 » 14! 20,000
OZEFE ZSHIDJIAY 30,000,000& =14 30,000
OREA L2 DISFAMS(SEATH S)
30,000,000& =14 30,000
OANYBEINEY FBELAY(SHAH)
35,000,000& =14 35,000
O« 2T XIS Hbl 20,000,000& » 14! 20,000
03 A& =2 THHI 1,278 1,731 A 453
OsXz=dAg Al&=0tl
355,000,000 *0.72/100%50%<& 2> 1,278
402 RIZ2ER20l A 15,000 0 15,000
01 RIZERt2E X 15,000 0 15,000
OMEEE = RIEX =4
15,000, 000& 14 15,000
A FEE Fe DHSHHAY(EX) 5,000 0 5,000
< 1,500
Al 3,500
401 A& HIZ 201 I 5,000 0 5,000
S 1,500
Al 3,500
01 A& HI 5,000 0 5,000
OLlol = X HAHS 5,000,000& =14 5,000
< 1,500
Al 3,500
AHOIQIHAES(BEX) 17,280 0 17,280
= 9,600
< 2,304
Al 5,376
402 RIZ2FXt20l ™ 17,280 0 17,280
= 9,600
< 2,304
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SH: SR4AD
HE: QAW S SYHY /LY - ME)
ool EEX0 A e EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 5,376
01 RIZERt 22X 17,280 0 17,280
oY==t A2l X3 A 17,280,000 17,280
2 9,600
< 2,304
Al 5,376
2542 Zel(BExX) 22,415 0 22,415
< 3,138
= 4,707
Al 14,570
401 Al HI K 201 I 22,415 0 22,415
= 3,138
=2 4,707
Al 14,570
01 A& HI 22,415 0 22,415
OBs=2elAtY 22,415,000 » 14! 22,415
< 3,138
& 4,707
Al 14,570
MEESEY 2,397,362 2,531,257 A 133,895
2 193,610
=3 144,544
Al 2,059,208
&= 2RI CH 2 372,972 442,874 A 69,902
101 @144 Hl 154,287 182,139 N 27,852
04 DIt Z2XREES 154,287 182,139 A 27,852
Oarzd A ZXI(100mOl L) 13t & M el2d]
54,500 20«30 32,700
C4UiEY D223 32,700,000& *11.5% 3,761
OMTIOIBTE FAFE 012y
41,680 ~6H 602 15,005
C4liE" JIA2RES 10,005,000& *11.5% 1,151
OUMETSIH(ZAIH, ZHE) X2
1,000,000, 000& * 1% 10,000
O&EZAIY TIlI=Hl 23,270
“MEZAA Z2E=2 110,000& 130 14,300
-2 2 STekdl 4,000 130 520
22X 25,0002 130 3,250
—-oHM 5} 35,000& 130 4,550
-2% 5,000& 130 650
OUMEZA L MXFSH (ol Xte &F) 68,400
-0l | 200,000 x60% x5 60,000
-2 2 203 140,000& »60H 8,400
201 Yer2 2t 86.731 97,391 A 10,660
01 At 2t 2l 49,160 55,760 A 6,600

_47_




K
<
al

ol
<]
<F
o0
S
0
Ho

ol

= ar

)
o
110

0
Klo 0
5 3
= 3
o
(@]
©
H3r
il %
Pak=y <
5
o
2 38 8
2 88 H S s8¢
g Ao 2 838528 8
.A._ [aN] N~ _Auv voysm ~ o
= v I 9 - - N~ Q S o
=3 K © - S < S = —
- o) IR -8 83 8 8
s M,ro,o,mmwwo =
2= v 288 888§ §
o o — L
—~ =
AN
m_ﬂw RN -
oir KO, m HA_.W_ 80 < ol -
0 £g : ¥ <+ g mg a o =
m > S 0 T T g v X g
o © &8 g8 W8 o Rx g O S W EEE
i S E%ﬁ&%ﬁ S B w8 3 T X = e Yo <
[ O,w.w.r._m,A_vm mﬂm N, j._q*m_ :uwr.w W_)m mw_ o|..m_ _,__A.A._%A_m._ N @@@@H
—_ — — By - * — o
< =5 @57 g 0 28 oo 8 8 =4 s 825 = 288 Y g & | <
L S ok o A =8 g & o,meﬁw,;o,ao, & 3l YR . 2= &
= L wooR NGRS 1ww¢5um¢m =& 322§ 4 g% g
= - o - — — * — =
. @2 K= = < 0 ~ mws F W = -~ %n*%m = 8w S
= =~ = RS 7 o = = -~ K D nw S o o = =
— o F "l o -+ 0 I 3R %OOOO JOO [Ye]
= - I _ = g 0 _F_M_ﬁ <] A o7 R 8 3 S 0 ® g = =
Slew o wooa i R Yo o< R o 13,3,m|)mo,m -
= |2 Z W 3 0 J = F D ~ = o 48 S 5 e 8 o 2
W = oK = aJ = _ o = S o © - =
Ok ) Rl < _ | ulo = M — G+ NG o <
T P 0 o W 2R = A w2 K=& _© %0
S = S A o 2 = ~ = e B < 5 ~ o
L 22 5 % = RO - o K =Rz X R 70 = D w 50
ol oo ] < D — ] = ok = = vk oF K — n <
Py TE % 3 stEn 9 g *zx < F & DU IS
%0 ) << = il o= ao iy < [ = 4 o oY ok = = N ™
O ! I A_ I T = m 30 _ KJ o _ = an hl = o ok - oo <+ o= R0
: ! < o . < oll il 80 A0 ~ nl =] ||..A 13| Ela - KO o ™ HA il =
53 S8 b Towwm @Y 2 m T A T . 0 3 O
* O ! o o OO =~ w w M R ar o 2 U ur- o o
oo wooB oz 0 ME&WOE%WXMl =
O ! _ 2 8z M_HI____ngﬁpmopa KR S
= SR S RS Tamoa o@womon A
) i o 5 N ]
3 QM_M_%%:%M
- wdled oo
Tz 9
# O
[ap]
o

- 48 -



SH: SR4AD

HE: QAW S SYHY /LY - ME)

ool MERERY EERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 04| 3,600 3,600 0
01 2Ll 3,600 3,600 0

ONEeX L A0 22|92 =8I
60,0003 *4 2 3L x53| 3,600
206 M = H| 9,000 14,000 A5,000
01 X2 H| 9,000 14,000 A5,000
Oat2&8 e AHHPA(ZAL 4Z) 5,000,000 5,000
OMEZAIES I =“FHiE 2l WA
50,000 *80H 4,000
301 et A= 68,854 135,244 A 66,390
08 2AUZ2L2ILAZ 64,934 61,424 3,510
OMIERRA 64,934
-Jl23 117,000& x 15 x12& 21,060
- Al | 7,000 15 22 x12& 27,720
- S| 2,400 15 x222 x12& 9,504
-1 =4 140,000& x 152 x23| 4,200
-G =EH 15,000& 15 %2 450
A ERed ZAXZH|
1,000,000 x2H x 13| 2,000
09 SHAIAHI B A2 2,420 2,820 A 400
OUEAAR 24 2 D8 &K S
7,000& 130 23| 1,820
Odt=0oer & MXIESH ZHHQ JAX 2HAH|
2,000& 100 33| 600
11 J|EtE A= 1,500 71,000 A 69,500
ON=2 83 s3 212tol MGl Xl 24l
500,000 x2H 1,000
Odt=gie 02 AE 29 A3
500,000 = 14! 500
305 HHAZ2S 500 500 0
01 A Z2S 500 500 0
OMESAE A 2001 BAZ 50,000& *10H 500
401 Al HI L 2 0HHI 19,000 0 19,000
01 Al& H| 19,000 0 19,000
Ot 2ZAIE H2H & X 4,000,000 *4 K & 16,000
OMSZAISE oA B4 3,000,000 14! 3,000
405 KHoaHFE S HI 31,000 10,000 21,000
01 XA 2B F S| 31,000 10,000 21,000
OtEdsglg &I 2 2 2 2HI| WA
500,000 x20CH 10,000
ORI XNSEE SHEEFI| 3,500,000 =6CH 21,000
At REXICHZE X (24]) 443,305 481,687 N 38,382
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FA SRS
HE: QAW S SYHY /LY - ME)
ol MEBESY (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 177,322
< 79,794
Al 186,189
101 124 dl 263,580 253,662 9,918
= 105,432
= 47,444
Al 110,704
M4 JI2ZHZEXNSES 263,580 253,662 9,918
OUEdZ0H LA o2 195,300, 000& 195,300
= 78,120
< 35,154
Al 82,026
OMENMZHL RS ZFE=Y 250,000 x4H 1,000
= 400
< 180
Al 420
Od22 R 0/AZ2txd 12 29,729,000 29,729
= 11,892
< 5,351
Al 12,486
OAUEE J|1&22E =3 37,551,000& 37,551
= 15,020
= 6,759
Al 15,772
201 L2l 32,600 27,286 5,314
= 13,040
< 5,868
Al 13,692
01 At 22l 19,400 16,785 2,615
O&S L RIHMALY 2Bt EH| 3,000,000& 3,000
= 1,200
< 540
Al 1,260
O4.1l = H| 12,400
~MEURNSAML 22 (EES)
12,400, 000& 12,400
= 4,960
< 2,232
Al 5,208
Os.2x=z 4,000
Q(MEFE ESIHE 4,000,000& 4,000
= 1,600
< 720
Al 1,680
02 =224l 13,200 10,501 2,699
OLSZAIE AXNZRALAE(SAZ)
5,200,000 5,200
= 2,080
< 936
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=
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,000,000& =10 2
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= W

= W
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,200
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,260
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2,000

900
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202 Oddl

= W
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800
360
840
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e
H
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[==

O
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W <2
A
ton
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20,000& x100H

= MW

2,
2,

000

000
800
360
840

2,000

206 M= Hl

= MW

20,
8,
3,
8,

873
349
757
67

16,739

4,134

01 M= dl
Ol & st &dl -

O
B
He
A
tol
pall
o
0
Bl
2

500, 000& =40 K

873,000&

= N H

= N H

20,
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8,
3,
8,

873

000
000
600
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349
157
367

16,739

4,134

401 AIEHIZ 2 I

= M W

115,

46,
,835
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20
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301

115,752

01 Al£ HI

Out2A3tAIE
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115
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AN SRS
HE: QAW S SYHY /LY - ME)
el HEBERY (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIAHSAERSFAAE(ZE)
8,500,000& 1AMl E 8,500
i 3,400
< 1,530
Al 3,570
S MHIAZ0I B ZHI XA (=2H) 16,288 27,424 A 11,136
= 16,288
301 LEtE A= 16,288 27,424 A 11,136
= 16,288
08 BAUZRRAB LS 16,288 27,424 A 11,136
ONBI=Z2Rd o218 % DEL
2,036,000& 8 16,288
= 16,288
MESLXHE(Z ) 1,564,797 1,579,272 A 14,475
< 64,750
Al 1,500,047
101 @124 dl 1,389,185 1,403,134 A 13,949
< 41,496
Al 1,347,689
04 JIZHHZ22XREE S 1,389,185 1,403,134 A 13,949
OMEZAIA 1Al 1,182,285,000& 1,182,285
< 37,146
Al 1,145,139
C4liE" JI2RES 1,182,285,000& *17.5% 206,900
< 4,350
Al 202,550
201 £B-2dH| 25,182 27,982 A2,800
< 5,036
Al 20,146
01 At 2t 2l 15,000 15,000 0
Od=20esE s g 3,000,000& 3,000
< 600
Al 2,400
Od=de 228 M 2 22 S
3,000,000& 3,000
< 600
Al 2,400
Ot=0Y 22 =& 2lg 3,000,000 3,000
< 600
Al 2,400
Ot =4 A2IE & S0 3,000,000& 3,000
< 600
Al 2,400
OYutESH &= 3,000,000& 3,000
< 600
Al 2,400
02 =224l 10,182 12,982 A 2,800
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AN It
UHW U (SPHLSA/YY - &E)
P 7:8E)
5 - 4 14
K- B3 B2 (3A0) - HRAMY - BES e HlnE2
O1.8332=2 ¥ HMA 8,400
~AZZUAE AXBHAAY(SAR)
140,000 »60CH 8,400
= 1,680
Al 6,720
O2.9=Hl 1,782
~NEHSU YRS 2AEL HYHD
1,100& %32 =180 *30H & 1,782
= 356
Al 1,426
202 O4dl 3,240 3,240 0
= 648
Al 2,592
01 = LH o4 1l 3,240 3,240 0
OU=HZUY XS 220l
60,0003 *3H »32 63| 3,240
= 648
Al 2,592
206 M= Hl 84,110 92,836 NB,726
= 2,954
Al 81,156
01 M= 4l 84,110 92,836 NB,726
OUEZANH c2E8s U 79,560,000 79,560
< 2,044
Al 77,516
OdELNEEE LEOEZE 4,550,000& 4,550
< 910
Al 3,640
301 et &2 1,080 1,080 0
< 216
Al 864
09 HALAHIE& S 1,080 1,080 0
OUENLXZAS R=0
60,0003 * 1 »32 63| 1,080
< 216
Al 864
401 Al HI L 20l 10,000 10,000 0
< 2,000
Al 8,000
01 A& HI 10,000 10,000 0
OUMSZAANE(ZANE . =2)E=
10,000, 000& *17H 2 10,000
< 2,000
Al 8,000
405 XHoHF S HI 52,000 41,000 11,000
< 12,400
Al 39,600
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SN 2RMD
HE: QAW S SYHY /LY - ME)
ool MERERY EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XA 2B F S| 52,000 41,000 11,000
ONERUTSHE LSAIE
14,000, 000& *2CH 28,000
& 5,600
Al 22,400
onsE UXgexsersdl 2,500,000 *6CH 15,000
= 5,000
Al 10,000
OUXNENSLSI (L EXNE)
900,000 =10CH 9,000
= 1,800
Al 7,200
A HEHEs 2 H 3,876,209 3,109,842 766,367
= 2,149,582
o 356, 187
Al 1,370,440
Al E 2 A 166,783 267,292 A 100,509
101 e1214| 14,400 12,719 1,681
04 J|12tHIZ22NEES 14,400 12,719 1,681
ODAI=E MAH 2dHl 56,5002 *10H 10 23] 11,300
O4tEE I3 11,300,000 «11.5% 1,300
OB A XX 2] 300,000 2% 33| 1,800
201 gEt24y| 10,360 6,650 3,710
01 AFR2 22| H| 7,160 3,450 3,710
O1.ggr gyl 7,160
“MEEHE SN s
2,000,000 x90%< & 2> 1,800
-AUERR 0IS2X EES (82 AEIH)
H& S 10,000 *5000H4 5,000
SHYYHE AFANE S22
0,000 x12& 360
02 B32%H| 3,200 3,200 0
O3. A& &H|l S XYl 3,200
SR (MO, HOIEEHI,SLET S)
2= 2| 100, 000& *5= *33] 1,500
S HEY REUH(EYR) 1,700 x1,000¢ 1,700
206 M = Hl 67,500 60,000 7,500
01 XH 2 H| 67,500 60,000 7,500
OAUR2MAEY 2HH N2 58,500
-EZH(Z2H) 10,000& *3,0004 30,000
-EEE HY 8,000 *3,0000H 24,000
-SYUHSEHAMPL 500,000& *3= *3box 4,500
OAUSMHMEEY o222 HHPLY (DX
.5 S) 5,000,000& 5,000
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AN SRS
X ZH: Ol Of 24 XK
(=R B o

==
= =
oo MEElE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAUSME=EY g & B8H SEF2L(XH
ELES) 4,000,000 4,000
401 AlEHIZL £ 0HY| 60,000 163,000 A 103,000
01 Al&H| 60,000 163,000 A 103,000
OsZas2 ALY 10,000,000& *33] 30,000
OJIEt At HEH S MAIE 15,000, 000& *23| 30,000
402 QI2H X201 M 14,523 14,523 0
01 QI2t X2 X 14,523 14,523 0
O1NZ2A x=%HF I YN 14,523
- 1.50 20| 370€ «78,5009H x50/ 100 14,523
M-S HHAR(EX) 2,393,706 2,318,015 75,691
= 1,675,924
= 214,090
Al 503,692
101 e1214| 86,476 146,476 A 60,000
= 43,238
o= 11,714
Al 31,524
04 JI2ZtHIZ22NEES 86,476 146,476 A 60,000
OMtelHal = et M ¢ 86,476
-0l 21 H| 76,500,000 76,500
= 38,250
= 10,363
Al 27,887
-ABE 2 8,798,000 8,798
= 4,399
= 1,192
Al 3,207
M EEIU (RS AL S) 1,178,000& 1,178
= 589
= 159
Al 430
206 M = Hl 28,638 27,000 1,638
= 19,928
o= 2,613
Al 6,097
01 =4l 28,638 27,000 1,638
OO0 &2 MSt BRIRH 2 (2LRZ=2 D], 2 M8l
°4s) 1,638,000 1,638
= 819
== 246
Al 573
OAULMAEsY X2 27,000
-EZH(Z2H) 10,000 *1,5004 15,000
= 10,617
= 1,315
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SN 2RMD
QR Me Ua (5ol o pHE)
Sl HEYHES YA SHol E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,068
-E5 &l 8,000& *1,5000H 12,000
= 8,492
= 1,052
Al 2,456
401 AIEHI L 2CHEI 2,278,592 2,123,411 155,181
= 1,612,758
= 199,763
Al 466,071
01 A& Bl 2,005,000 1,850,289 154,711
OMYESLMAME (LS, S0, 8SLHe
g) 2,005,000,000& 2,005,000
= 1,419,112
= 175,777
Al 410,111
02 Zteltl 270,000 267,462 2,538
Otz Hal S MALY 2eltl 270,000, 000& 270,000
= 191,104
< 23,671
Al 55,225
03 A& =TI 3,592 5,660 A 2,068
OMSEHMHNESL ALY AIZR0HHl 3,592,000 3,592
= 2,542
< 315
Al 735
AF S TH o Off & 342,735 431,754 A 89,019
101 @124l 51,103 54,594 A 3,491
04 JIZHHZ2Z2XNESE S 51,103 54,594 A 3,491
Outz Mol S==+ 24l
56,5009 +20% x42 +53] 22,600
OSUE HSANLES RN A2
54,5003 «6H «10L! x4 3 13,080
=d2elelAd 42,3003 «4H 602 10,152
O4UEd J1&=2 45,832,000& *11.5% 5,271
201 Let24d] 26,750 25,660 1,090
01 At 22l 8,150 7,060 1,090
O4.1l =l 1,000
“MHMH S= g=(29 . &3 8) 7
2 50,000& »20%¢ 1,000
O6.29 1tz 7,150
-ME M 2= HI & Xt 7,150
= 40| 450,000 =4CTH 1,800
gEE™ 450, 0003 *3CH 1,350
It 342l (5Ton) 500,000& =8CH 4,000
02 2324l 18,600 18,600 0
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SN =2RAAD
HE: QAW S SYHY /LY - 4E)
E MEES M (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O1.2Z22=Z A 15,600
-SAZ HHAHXE0 M2
100, 000& #1304 A 12 15,600
O3. A& &Hl R Xl bl 3,000
SSHZ AEE 2H(M0eXE0l S)
300,000& =103l 3,000
206 M= Hl 19,000 20,500 A 1,500
01 =8l 19,000 20,500 A 1,500
Oty & SS=E T2 (HEL 6
E) 8,000,000& 8,000
OstzZ2 HHEXZ0l 4285 7¢
10,000& x2& 504 1,000
O=Zdzells 2 10,000
—OHHE S BHOYALEZS 1,000, 0002 104 £ 10,000
401 Al Bl & 28I 245,882 331,000 A 85,118
01 A& Hl 245,000 331,000 A 86,000
OAMAER M S AH(ELS) 120,000,000 *14] 120,000
O&FALER OIS AH(ZEFS) 40,000,000 *14] 40,000
O« T KIE =S HHAY 30,000,000 * 14 30,000
OSKZ MBAES B3 A
10,000, 000& 14! 10,000
O=Zd&elAd 15,000,000 *34! 45,000
03 Al 20 HI 882 0 882
OALS THOH Gl &H AN Al & 201 I
245,000,000& *0.72/100%50%<& 2> 882
MEHHE WA A Y (RE) 11,902 3,700 8,202
= 5,950
< 1,785
Al 4,167
405 Xt&HE S| 11,902 3,700 8,202
= 5,950
< 1,785
Al 4,167
01 AL EFH S 11,902 3,700 8,202
ougddais dMEL(ASI,2THMAHI S)
11,902,000 11,902
= 5,950
< 1,785
Al 4,167
MEMHSLIHEAME (BX) 401,700 65,208 336,492
= 200,850
< 60,255
Al 140,595
101 1A bl 315,626 63,028 252,598
= 157,813
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2N
X ZH -
L= B

el

0 4
oV R U
0f o¥
S0 12
o 1Y &
0% oy

> ol

OF
o
%
02
{>
[P
©
Q
[
i

0l &t o

=
i

2

=

47,343
110,470

L EAZR)
0

-HYerd 2,500,000& 4H »10&

=z N H

1,550,000& 11H «10E

= N H

-AHEE J28ed2

270,500,000 *11.5%

= MW

5,000,000

= N H

9,018,000&

=z N W

315,626
315,626

100,000
50,000
15,000
35,000

170,500
85,250
25,575
59,675
31,108
15,554

4,666
10,888
5,000
2,500
750
1,750
9,018
4,509
1,352
3,157

63,028

252,598

= M W

16,874
8,437
2,532
5,905

16,874

= N H

—CHEEA S S A UGt IYHAS)
480,000 = 10CH

=z MW

S2IHI(IHI1,21HS S)
1,700& *4,0004

= N H

-2 HZEH =&l 150,000& »153]

7,824
3,024

3,024

1,512

454
1,058
4,800

4,800

2,400
720
1,680

9,050
9,050

6,800

3,400
1,020
2,380

2,250

7,824

9,050
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SA: 2RAYD
HE: QAW S SYHY /LY - 4E)
E MEES M (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 1,125
< 338
Al 787
202 o4dl 3,600 0 3,600
= 1,800
< 540
Al 1,260
01 = LH o4 1l 3,600 0 3,600
Ot S H =80
60,0003 *3H x4 x53 3,600
= 1,800
< 540
Al 1,260
206 M= Hl 1,100 1,100 0
2 550
< 165
Al 385
01 =8l 1,100 1,100 0
O=4 HESFH 1,100& +1,0004 1,100
= 550
< 165
Al 385
301 L2 A3 13,500 1,080 12,420
= 6,750
< 2,025
Al 4,725
09 EAEHIE &S 13,500 1,080 12,420
O4tteldollE ZHE eS|
400,000& 10 4,000
= 2,000
< 600
Al 1,400
O4tteldollE ZHE nEsEd I
150,000 10X 1,500
= 750
< 225
Al 525
OY M ALE A 2HA Z Al
7,000& +1,0009 7,000
= 3,500
< 1,050
Al 2,450
OY M A &4 QI2I01 MHEEHS
1,000, 000& 1,000
= 500
< 150
Al 350
5 e =2sS 2,000 0 2,000
= 1,000
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SN 2RMD
HE: QAW S SYHY /LY - 4E)
E MEES M (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 300
Al 700
01 tHa=8 2,000 0 2,000
OArE M & TIoh BH& 32 2,000,000 2,000
= 1,000
S 300
Al 700
405 XHoHF S HI 49,000 0 49,000
= 24,500
< 7,350
Al 17,150
01 XAt 2 ZFH S| 49,000 0 49,000
OJIAES 500,000& = 10CH 5,000
= 2,500
< 750
Al 1,750
OGPS 1,000, 000 *5CH 5,000
= 2,500
= 750
Al 1,750
o224 Xl 13,000, 0002 »3CH 39,000
= 19,500
= 5,850
Al 13,650
B2 (EF) 35,300 0 35,300
206 M= Hl 5,300 0 5,300
01 = 8l 5,300 0 5,300
OEs+ 2N & d=s&883 =2H #Y
50,000& 504 2,500
OFEs+ 2HE sY2L (45N . 42H S)
30,000& »60H 1,800
OkA= ME3SdH ¢ 50, 000& *20H4 1,000
401 AIEBIZ 201 8I 30,000 0 30,000
01 A& Bl 30,000 0 30,000
Qdssd 232 HEAD(SSHI, M=
g) 5,000,000& *34! 15,000
OH= Haolis 2Hl 5,000,000& x33l 15,000
APAFER S Z O EH(EX) 24,083 0 24,083
= 16,858
< 5,057
Al 2,168
101 14 Hl 23,366 0 23,366
= 16,356
< 4,907
Al 2,103
04 JIZHHZ22XREES 23,366 0 23,366
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AN SRS
X ZH: Ol Of 24 XK
(=R B o

==
= =
oo MEElE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OA&HALEY & Z 0l E el A 20,340,000 20,340
= 14,238
< 4,271
Al 1,831
C4liEd JIA2RES 2,626,000 2,626
= 1,838
< 552
Al 236
OLHALEH B FOIYE od=Tel
200,000& »2H 400
= 280
< 84
Al 36
206 M= Hl 77 0 77
= 502
< 150
Al 65
01 =8l 77 0 717
OA&HALEY & & ole =2 XM & 717,000& 7
= 502
< 150
Al 65
MO 2B FHHIAY(2X) 500,000 0 500, 000
2 250,000
< 75,000
Al 175,000
401 AIEHI L 2] 500,000 0 500,000
= 250,000
< 75,000
Al 175,000
01 A& Hl 490,000 0 490,000
ONMOUZLHAE X S HUIAML(EBE,88XF)
490,000,000 490,000
= 245,000
< 73,500
Al 171,500
02 Zeltl 10,000 0 10,000
OMUUHABENS HHAY (S 54X )2
cldl 10,000, 000& 10,000
= 5,000
< 1,500
Al 3,500
HAE2AZH(SF &) (IIEHIIEH 64,007 68,284 N4 277
Jl2ZH(s+ &41) 64,007 68,284 N4, 277
A2 7,007 6,004 1,003
201 Let2d] 7,007 6,004 1,003
01 At 22l 7,007 5,524 1,483




2N
X ZH -
L= B

el

=

i
2m

3,940,000& »95%<& &>
1,680,000&
132,000& »12&

3,743
1,680
1,584

52,800

58,080

5,280

52,800

58,080

A5,280

20,0003 »22F 10 12

52,800
52,800

58,080

A5,280

4,200

4,200

4,200

4,200

(B2 :24Y)

350,000& 12

4,200

4,200

4,200
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